
Multiplying by 6

Complete the calculation.

Find the missing number in the calculation.

Challenge: 
Write out the multiples of 3 and 6 and compare. 
What do you notice?

6 x 2 =

10 x 6 =
 
1 x 6 =

5 x 6 = 

6 x 3 = 

6 x 6 =

6 x 12 =

6 x = 42

6 x = 18

6 x = 48

6 x = 54

6 x = 66



Multiplying by 6

Complete the calculation.

Find the missing number in the calculation.

5 x 6 = 

6 x 2 =

3 x 6 =

7 x 6 =

10 x 6 =

4 x 6 =

11 x 6 = 

=

Challenge: 
Use 6 x 10 = ? to work out 6 x 20 = ?

x 6 = 54

6 x = 6

x 6 = 24

x 6 42

6 x = 36

6 x = 48

6 x = 72


